

1) a) $z - 2i = 2\sqrt{2} e^{-i\frac{\pi}{4}}$ b) $\frac{18dB}{z+1-i(z-2)}, z(1-i) = -3, z = \frac{3}{i-1} = \frac{3(i+1)}{-2}$

2) $(1, 1, 0) \times (2, 0, 2) = \begin{vmatrix} 1 & 1 & 0 \\ 2 & 0 & 2 \end{vmatrix} = (2, -2, -2), u = \frac{1}{\sqrt{3}}(1, -1, -1)$

$x - 1 - y - (z - 1) = 0, x - y - z = 0$

$x - 2 - (y - 1) - (z - 1) = 0, x - (y - 1) - (z + 1) = 0$

3) a) $\sqrt{u} \frac{1}{\sqrt{u} + \sqrt{u}} \rightarrow \frac{1}{2}$ b) $\frac{u!}{(u!)^u} \frac{1 + \frac{25^u}{u!}}{(-1)^u + \frac{u^2}{3}}$ dies c) $(1 - \frac{1}{2u})^{4u+2} \cdot (1 - \frac{1}{2u}) \rightarrow e^{-2}$

4) a) $\lim_{x \rightarrow x_0} f(x) = f(x_0)$ existiert falls x_0 kein
 Behauptung: Sei $f \in C[a, b]$, aber f selbst um $f(a)$ in $S(b)$ beliebig
 b) $x \neq 0$ -mal fallen; $x = 0$ -Grenze, $x \rightarrow 0$ -Grenze

$x \cdot \arcsin \frac{1}{x} \rightarrow 0$
 $\rightarrow 0$ Verhalten

5) a) $\lim_{x \rightarrow 1} \frac{(x-1)(x-2)}{(x-1)(x+2)} = \frac{1-2}{1+2} = -\frac{1}{3}$ b) $\lim_{x \rightarrow \infty} \frac{1 - \frac{2}{x} + \frac{2}{x^2}}{1 + \frac{1}{x} - \frac{2}{x^2}} = 1$

c) $\lim_{x \rightarrow 0} \frac{\ln(\cos x)}{\cos x - 1} \cdot \frac{\cos x - 1}{x^2} = -\frac{1}{2}$

b) c) He f invertierbar, $y_0 = f(x_0)$ in $f'(x_0) \neq 0$, daher $(f^{-1})'(y_0) = \frac{1}{f'(x_0)}$

b) $y_0 = \ln 2 \Rightarrow x_0 = 1, f' = \frac{\frac{1}{3} x^{-2/3}}{1 + \frac{2}{x}} \Big|_{x_0=1} = \frac{1}{6}, (f^{-1})'(y_0) = 6$

7) $\frac{2x + 2^x \ln 2}{\cos^2(x^2 + 2^x)} \Big|_{x=0} = \frac{\ln 2}{\cos^2 1}, y - \text{tg } 1 = \frac{\ln 2}{\cos^2 1} \cdot \frac{1}{x}$

8) a) $\sqrt[3]{\frac{8 + \frac{5}{n^3}}{2 + \frac{7}{n^2}}} \leq \sqrt[3]{\frac{8 + \frac{5}{n^3}}{2 + \frac{7}{n^2}}} \leq \sqrt[3]{\frac{8 + \frac{5}{n^3}}{2 + \frac{7}{n^2}}}$
 $u \geq u_0$
 daher $\lim = 1$

b) $f(x) = 3^x - \ln(1+x^2)$ fallend, $f(0) = 1 > 0, f(-\infty) = 0 - \infty$
 existiert $\exists x_0 < 0$, bei $f(x_0) < 0$. Behauptung ist nicht
 f -wert von $p_0(x_0, 0)$ - u.